
C
or

ey

Ju
lia

S
ky

le
r

T
at

um

ch
oc

ol
at

e

re
al

ity
 tv

sh
op

pi
ng

sm
ok

in
g

B
iz

D
ow

ny

E
ra

T
id

e

First Names Secret Vices Detergents
S

al
ar

ie
s

D
et

er
g

en
ts

S
ec

re
t 

V
ic

es

$25,000

$44,000

$45,000

$227,000

Biz

Downy

Era

Tide

chocolate

reality tv

shopping

smoking

Salaries First Names Secret Vices Detergents

$25,000

$44,000

$45,000

$227,000

1. Corey earns less than Julia.

2. The employee with the $25,000 salary uses Downy.

3. Either the person who uses Era or the person who uses Tide is Skyler.

4. Of Tatum and the person who secretly enjoys smoking, one earns $44,000 per year and the other earns $227,000 per
year.

5. The person who secretly enjoys chocolate is not Julia.

6. The person who uses Tide doesn't enjoy reality tv or chocolate.

7. The person who uses Biz doesn't enjoy reality tv.

8. The person who secretly enjoys shopping is not Skyler.

9. The person who secretly enjoys chocolate earns more than Corey.

10. The person who uses Era tries to hide their love of smoking.

11. The employee with the $227,000 salary doesn't use Biz and is not Tatum.
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